
CURTMFG.COM  •  PRODUCT SUPPORT: 877.287.8634  •  99441-INS-RA  •  08/05/2022  •  PAGE 1

	CAUTION
Two people are required to install product onto the display.

Display holds up to three hitches. Generally wider and 
heavier products should be mounted closest to the ground.

Make sure each easy-lock latch is secured with a safety pin (or best with a coupler lock).

Care must be taken to avoid damage or injury. Do not overload display.

INSTALLATION MANUAL WEIGHT 
DISTRIBUTION

Parts List
Item Qty Description
1 1 Base

2 1 Bottom post

3 2 Extension post

4 6 Horizontal tube

5 3 Coupler (#25200)

6 1 Header frame

7 4 Leveler, 3/8"-16 x 1"

8 22 Short screw, 5/16"-18 x 16mm

9 9 Long screw, 5/16"-18 x 16mm

10 9 Nylock nut, 5/16"-18

11 1 Allen wrench, 3/16"

12 1 Nut driver

Level of Difficulty
Easy

NOTICE
Before you begin installation, 
read all instructions thoroughly.

Proper tools will improve the quality of 
installation and reduce the time required.

Hole for safety pin 
or coupler lock

Display Photo (product not included)



CURTMFG.COM  •  PRODUCT SUPPORT: 877.287.8634  •  99441-INS-RA  •  08/05/2022  •  PAGE 2

1
7

2

3

3

4

4

4

5

ASSEMBLY
Parts List
Item Qty Description
1 1 Base

2 1 Bottom post

3 2 Extension post

4 6 Horizontal tube

5 3 Coupler (#25200)

6 1 Header frame

7 4 Leveler, 3/8"-16 x 1"

8 22 Short screw, 5/16"-18 x 16mm

9 9 Long screw, 5/16"-18 x 16mm

10 9 Nylock nut, 5/16"-18

11 1 Allen wrench, 3/16"

12 1 Nut driver

6



CURTMFG.COM  •  PRODUCT SUPPORT: 877.287.8634  •  99441-INS-RA  •  08/05/2022  •  PAGE 3

Step 1

Install four levelers (#7) to the 
underside of the base (#1).

Step 2

Install the bottom post (#2) to the 
base (#1) and secure with four short 
screws (#8) on the bottom plate and 
two short screws on the vertical tube.

Step 3

Install two horizontal tubes (#4) to 
the bottom post (#2) and secure 
each with two short screws (#8).

8

8

8

8

8



CURTMFG.COM  •  PRODUCT SUPPORT: 877.287.8634  •  99441-INS-RA  •  08/05/2022  •  PAGE 4

Step 4

Install the coupler (#5) and extension post (#3) 
to the bottom post (#2). Then secure the 
posts together with two short screws (#8) 

Step 5

Install three long screws (#9) 
and three nylock nuts (#10).

Tighten using the allen key (#11) and wrench.

9

10

10

8



CURTMFG.COM  •  PRODUCT SUPPORT: 877.287.8634  •  99441-INS-RA  •  08/05/2022  •  PAGE 5

Step 6

Repeat the process to install the 
second extension post (#3), horizontal 
tubes (#4) and two couplers (#5).

NOTICE  
Install the top-most coupler with three long 
screws (#9). Install two short screws (#8) 
to the middle extension post (#3).

Step 7 - Installing the Weight Distribution Product

Install the support brackets 
to the horizontal tubes (#4).

Person 1: Carefully hold the front 
end and install the ball hitch through 
the ball-end of the coupler.

Person 2: Install both bars to the 
support brackets. Secure the bars 
with a retainer clip and cotter pin.

Retainer

Support brackets

Pin

9

8



CURTMFG.COM  •  PRODUCT SUPPORT: 877.287.8634  •  99441-INS-RA  •  08/05/2022  •  PAGE 6

Step 1

The side threaded holes on the upright (#2) are 
to be used to secure accessories such as the 
tri-fold brochure holder (ordered separately).

ACCESSORY ATTACHMENT

Final Installed Image

Display product sold separately


